Towe THREE VARIABLES SYSTEMS NOTES

OBJECTIVES: Solve a system with three or more variables.

SOLVE THE SYSTEM OF EQUATIONS ALGEBRAICALLY: l

A [2x—y+2z=15¢

X+y+z=7
1) 2x—z=6 2)6 -Xx+y+z=3 °»
;Z% Cl3x—y+2z=18 °
A+’ B+C
2% -4= 6 x+y+t2z=7 ?.x—\(*?—?—’\{ Xy te =3
2x = (0 Sy +4=7 ”X*\f*%’:z‘ 3x-\(+12;l9
@ @ X + 22 =18 2x +32 = 2|
N
(g,'l,q') X+232:=
—(2x-32 =2|\)
-X = -2
D0 e
3+32:= bVlo\vI\a,l

|2><3
2y —y +22=\¥
\(31\’§> 5 2(3)-\{—+2(§)>l¢
- ""\
Y

v =
A (5x+3y+2z=2 A [x-3y+3z=-4
3)Bi{2x+y-z=5 4)p12x +3y—z=15
Clx+4y+2z=16 C|l4x-3y-z=19
A S x "'3\’4'2»2"2- A+6
T3 CTex m3 +32=TIS x-3y +32="1
‘)(‘Fg%:"(% 2x 4»3\[»2: LS
_ _ - - Ix +22=\\
%63 Sx — "f\,—r%z, 20 z \;3x+7_%:\\
+ Yy t22 - =
//‘/q—“ \(-2,6, 3) e ex - 22 =34
~SIx+b2= -~ P
2x 3y z-; A= <
Mx-2y T
-x1S2:="13% 2x+\1'2;§ A 2o - By \X:gf
I 462 T -Y 2(-2) +y+3 = - ¥ 3As)+r2=z =\
Ix —35 5= Al ‘Y'G’ (S$+22 =
’ZOIQTQ? ‘X‘f&(’a):'tg 2)(_‘_3\( 2/l{ 2'2

2) o 2(5)*3“15(@ =Y lZ,l

[ Y=



WORD PROBLEM APPLICATIONS l

5) A theater group sold a total of 440 tickets for $3940. Each regular ticket costs $5, each
premium costs $15, and each elite ticket costs $25. The number of regular tickets was three
times the number of premium and elite tickets combined. How many of each type were

sold?
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